Basic Atomic Structure Worksheet K@J

1

The 3 particles of the atom are;

a. D_[mf) (1)

b. ons_ ()
¢ %iﬁvm& (0)

Their respective charges are:

a. @55\“\'@

b. A0V,

c. TAY BV :hr{kﬂ
The number of protons in one atom of an element determines the atom’s S U Y20 \ , and the
number of electrons determines the {'J{\(Wﬁp of the elemeni.’i.
The atomic number tells you the number of Omh)rﬂ in one atom of an element. Italso
tells you the number of Pllﬁd*(ms in a neutral atom of that element. The atomic number

gives the “identity” of an element as well as its location on the periodic table. No two different elements will

have the S{L e, atomic number.

The h"lﬁﬂ% of an element is the average mass of an element’s naturally occurring atom, or
isotopes, taking into account the Atge) j}: NS of each isctope.
The NMOA R of an element Is the total number of protons and neutrons in the

[mgug&! of the atom.
The mass number is used to calculate the number of in one atom of an element. In
order to calculate the number of neutrons you must subtract the NAA J_Y B} from the
YNOAN - (Mo - roaaber)

Give the symbol of and the number of protons in one atom of:

Lithium t‘. ¥ 3 o] Bromine BY 35[)
fron FLO, 4 lb n Copper QL Z@ ;-,1'

7
Oxygen O i (& .D-k Mercury +'lﬂ ‘KO (I_')+
1
Krypton Ly y 5({1 pJT Helium Hé} 7 5?+
Give the symbol of and the number of electrons in a neutral atom of:
~
Uranium () (’I’l 6 lodine . %33
! e -
Boron P) ; A o Xenon Xe 4 s4e

Chlorine (/l 4 ithz

Give the symbol of and the number of neutrons in one atom of:
{Mass numbers are ALWAYS whole numbers.._show your calculations)
Barium m’; 28—~ 50 = g:)_no Bismuth ‘b‘i 4 20q = 83 = 12(9\10
Carbon C 12 - = (0 no Hydrogen H s l

7 — ® 5
Fluorne _ . 9-9 = 20n Magnesium n‘\q 1= 12.202n
Europium EUL'. 152 - (0% = §94° Mercury Hﬁ\ ’3.01" Q0= 12| n°




10. Name the element which has the following numbers of particles:

[

a. 26 electrons, 29 neutmns,lZﬁ protons I\’mm
b. i53 pn::tt:m;| 74 neutrons Tﬁfi&hb
c. 2 electrons (neutral atoms) hQLLUJY\
d. 20 protons ULL(‘LLU{Y\
[} BEeIectmns,'nSneutmns 82 protons l_pﬂkd
f. Oneutrons ‘%U\:}IJLEDU‘}:_A’\
11. If you know ONLY the following information can you ALWAYS determine what the element is? (Yes/No)
a. Number of protons ﬁE’S
b. Number of neutrons Nﬁ
c. Number of electrons in a neutral atom YES
d. Number of electrons NA
12, Fill in the missing items in the tab!le below, N
i . r " ISOTOPIC
NAME SYmeoL |z A~ | #PROTONS | o e tRONS | NEUTRONS SYMBOL
» Sedon | % [N (23 312 U
o Chipne, | €1 | v |35 | |19 9 -3 % ¢l
c. Potassium K ]q 601 |°T |L1 -9 » 20 ?:K)
i B i 3
“Phsphogus | P |19 |31 | IS | 15 s P
54
e. Iron T:& 2[0 5 2b 220 Plo~ 20, >20 20 Fe,
123
tTodwe | T |53 [0t | 2 | 53 |mesem| BT
[1}-3
g. Silver Aﬂ 4% 1 10Q 43 43 |e3-43- 0l -Inw
;e |
oopton | Kr | % (34 | 3 | % praca| e
: 4
Tasten | W |4 |18 | 1 | 4 peemewo] W
Chger |G [ e [ [ s Hon
B 1}=]
B IW[IUJY} In H4 1119 49 LG (15-49= LHIH
9%
L (Z\Dld Au_‘ :{,Cl 193 79 RI9 (HF-19=13 az
m SWhw | S | . |22 | o Ll Ezaldid TN




